- €) Where the speed is high, the pressure would be low

FULL LENGTH PAPER PHYSICS

- The dimensions for angular displacement is
A) (L] C)[L]

B)[T] D) Dimensionless
Which of the following is not a S.I. base quantity

A) Mass C) Velocity

B) Intensity of light D) Length

Which of the following objects have every point on its surface equidistant from
its centre of weight (centre of gravity):

A) An €99 C) A table tennis ball

B) A cubic box D) A triangle

Which of the following statements is false

A) The centre of gravity of a rectangular plate is at the point of intersection of its |
diagonals |
. B) The centre of gravity of a thin uniform rod is halfway along the rod

C) The centre of gravity of a square plate is at the point of its balance

D) The centre of gravity of a triangular plate is at one of its vertices

Ideal fluid is
A) Incompressible C) Non - viscous
B) Steady flow D) All of these

A fluid entering a pipe from a point of larger cross section and exits from tne
point of the same pipe having smaller cross section. Its pressure energy at the
exit would

A) Decrease because of high velocity ol \ - A\
B) Increase because of high velocity ? m—

C) Remains the same as inlet pressure \

D) Increases because of low velocity

What do you infer from the Bernoulli’s equation:

" A) This theorem is valid only for the turbulent flow of the fluid iy
~ B) Where the speed of the fluid is high, the pressure would be lo
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Q.8

Q.9

Q.10

D) All of the above

renheit scale:
The value of absolute zero on Fah o 100°F
- A) 359.4°F D) -259 40F
B) -459.4°F |
1 Sv is equal to (B) 100 rem
((g))?'?;drem (D) 0.01 Gy
igri scale 15:
The normal temperature of a human bod;g_(,)? centigrade s
A) 98.6° C) 37
B) 40° D) .

Q.11

Q.12.

Q.13

Q.14

Q.15

In S.H.M the K.E at the equilibrium position Is:

A) Zero as the acceleration is zero |

B) Minimum as the instantaneous displacement IS Z€ro
C) Minimum as the instantaneous displacement IS Z€10
D) Maximum as the velocity is maximum

Maximum acceleration with zero velocity is possible only for: ‘
A) Non inertial frame of reference C) Simple harmonic motion
B) Rotational motion D) Random motion

When a source is moving towards a stationary observer, the apparent changein
frequency will be:

A) Greater than the original frequency C) Smaller than the original frequency
B) Remains the same as that of oniginal frequency D) None of the above

A technique for detecting the pressure of objects under water by acoustical echo is
called

A) Doppler effect C) Radar

B) Sonar D) Red shift

Two unequal resistances are connected parallel across a battery. Which of the
following statement is true?

" A) Same current will flow through both resistances.

Q.16

B) Current through smaller resistance is higher.
C) Current through larger resistance is higher.

D) Current can be higher in any resistance depending on emf of the cel.

be:

A) Less than either of the individual wave
B) Greater than either of the individual wave
C) Equal to the shortest of the individual waves

If the waves interfere constructively, the amplitude of the resulting wave would
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Q.18

Q.20

Q.21

Q.23

Q.24

* A) Normal at that point

Y 1 agual to the greatest of the individual wave

Thin film of oil on water shows colour pattern whe
nilluminated b
Yy white light

due (o
A) Interference C) Polarization
1) Digpersion D) Scattering
Mnnm*lu-nnm(ic light means the light having:
A) One colout C) Single wavelength
B) 8 \:h- frequency ~- D) All of above
,_\_; ) %}
If two or more resistors are joined ..Id,__y side, this combination is called:
A) Senes combination of resistors C) Y delta combination of resistors

8) Parallel combination of resistors D) None of the above

Which of the following quantities remain the same in/across the resistors
connected in series Combination?

A) Charge flow C) Both of the above

8) Current D) Voltage

\What is voltage across Ruis the given circuit
-4

-

The strength of the magnetic field outside a solenoid is weak, because:

A) Lines of force are quite far from each other 2

R) The lines of force are in the same direction and tend to cancel }t the effect of each
C) The lines of force are opposite to each other and tend to cancel out the effect ol each

D) Both a and ¢ are correct

The direction of magnetic field as given by Fleming’s rule for the solenoid is

along:
A) Normal to the solenoid C) Can't be taken
B) The axis of the solenoid D) None of the above

The direction of magnetic field at a point on the magnetic lines of force can be taken

along: |
C) The tangent at that point
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Q.28-

Q.29

Q.30

Q.31

Q.32

. The substance dergom

A} Bnttle substance

Leorm Anywiers AryT

—~ et e

Sy - £ ~ v B o~ F e \ 3
S AS O e MagnSic e QL Ioe al Tlal pud it

Q

S—

u
IS «
solenoid £y

a5 dus to the a;:'..ea siress C)Shape changes due to the applieg .
‘ " D) All of the above
plastl c deformation until they break are know

A} Bt nce C) Elastic substances

/l

-~

8) Ductile substances

Which of the following will represent OR gate
™~

o — C—
—
S N\
el \ \
- ‘——-/ 4
Le—— | @ ——
S ~
A)
A L | C)
©
\‘ / \\
ee— .
e ] C_ "
— .
—-\.‘——“
\ Y ‘_/“'
Do—> 1} -
— 3
"\} y
o) -~

Energy of the electromagnetic radiation is far more than 1.02 MeV

process will be

]
A) photoelectric effect

8) Compton scattering

The target in the X ray unit is given a:

X rays are similar in nature to:

D) Plastic substances

. The dominar:

C) materialization of energy
D) zall are equally probable

S C) Low negative potential
High negative potential D) positive potential

A) Cathode rays C) Gamma rays
B) Canal rays D) Beta rays

The velocity of X rays is equal to that of:

~ A) Speed of sound C) Speed of a-particles
B) Speed of electron D) Speed of light and y-rays
X rays are affected by: ‘
A) Electric field only C) Electric and magnetic field
B) Magnetic field only D) None of these
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‘f“a' Sizristic X rays zre produced due to the transition of electrons -
- = C) From L to K shel

B Fro oM she UV)rromKito L she
hzme of the 2tom not used for tracer-
v Y G
2 o= oo
T -y ./'JA
Which one is more energetic x-ray
=4 _ yw.r— V. -
= z XY /:JI ./; /'fﬂ//
‘/.__.. { ~ e 4 Csrus g o
C) Ry X432 C) all und of z-rays avE SaME energy
S
T - - s cr-da - .
|TE Chzraciensuc x-rzys appezr z2s discrete lines on 2
v ) T T P R S *3 B - o -
A LDISOIee Speciru C/ Danc specirun
= — Pa—. ‘B f 1 Lt e,
£) Continuous spectrum D) Al of these

~ cetector which can count fast and operate at low voltzges i
A) G.M. counter C) Wilson could chamber
B) Solid state detector D) Eubbie chamber

Eidlogical effect of radiation depends upon
of on C) Both “A” and “B”

- f - T A e e e e ' 1.4 - 4 e o | Pl . RV P,

- - | & '] LIS P - o s < > 4]

caad ST - f I s ¥ JEBCIET L Pibiscii A WL VO ML IS0 D
: . o - e . “J‘.‘} U, INSULANT O e

The unit of the rate of absorption of a radiation to have the same biclogicz!
effzects on different parts of the human body is called a:

A) roentgen Cjrad

E) rem Dj curie

A method of recording and producing three dimensional image is named 25

ey s {B) diffraction
(C} holography (D) wopography
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Q.43

Q.44

Q.45

Q.46

Q.47

Q.48

Q.49

Pressure of a gas is:
A) Proportional to the averag
B) Proportional to the

In solid state detector

(A) silicon
(C) tin

" Which of the following is not a S.I.b

A) kg
B) ampere

P |
& ranslationa! KE.
absolute ternperature

¢} Both of the abo

[_)} f’!'/f/’/f??’;!uai b e Ty & o»

is used.

() germaniurm
(D) both Si and Ge

ase unit:
C)cd
D) Coulomb

Which of the materials is/are fluorescent?

A) zinc sulphide 'Z(\,6
B) sodium iodide ‘_n.\,

Centre of gravity of a body lies:

A) Inside a body
B) Outside a body

C) bariurn platinoeyanide:
D) all of these

C) May be inside or outside a hody
D) None of the above

A body is moving in a circle with constant speed, which of the follwiy,

statement about the body is true:
A) There is no force acting towards the centre of the circle

B) There is no any acceleration

* C) There is a force acting at a tangent to a circle

D) K. E of body remains constant

Blood pressure measuring instrument is called:

A) Stethoscope
B) Sphygmomanometer

C) Sino scope
D) Spectroscope

'If m = mass oi; electron h = Planckfs c?nstant and C = speed of light then
Lo o 1. %

) \ h .
dimension of — is
mc

AT
B) L

Y

C) L
C) T

Q.51 If earth stop spinning about polar axis then weight of object on earth

Q.52

A) Remain same
B) Increases

C) Decreases
D) Become zero

During an adiabatic expansion of 2 moles of gas, the internal energy of the gas

is found to decrease by 2 joule,
be equal to

A)1J

B)-1J

the work done during the process on the gas will

C)2J
D) 2 J
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Q.53

Q.55
Q.56
Q.57
Q.58
Q.59

Q.60

- Mercury is used as a thermometric substance because:

A) lts expansion is linear over a wide range of temperature
B) Its is sensitive to heat because of its low specific heat
c) Itis easily distinct able and visible

D) All of the above

At what temperature, the Fahrenheit and Kelvin scale wiill have the same
reading:
A) 574.25° C) 450.4°
B) 425.4° D) 375.4°
An oil film spreqding over a wet footpath shows colour shows colour due to:
A) Dispersion of !lght waves C) Interference of light waves
B) Diffraction of light waves D) Polarization of light waves
The property of the bending of light around the obstacle is known as:
. A) Interference C) Reflection
B) Diffraction D) Less for sharp edges
Diffraction is the characteristic of:
A) Particle nature of light C) Dual nature of light
B) Wave nature of light D) None of the above
Diffraction effects are:
A) More for sharp edges C) Less for round edges

B) Less for cylindrical D) Polarization

Doppler’s effect can be applied to:
A) Sound waves in space C) Both of the above
B) Electromagnetic waves D) High frequency sound waves only

When the source of the sound approaches the listener, the frequency of the
sound received by the observer will be:

| A) Less than the frequency of the sound produced by the source

Q.61

B) Greater than the frequency of the sound produced by the source

C) Same as that produced by the source
D) Zero

113 1

is moving with the velocity "u

A source of sound having a frequency “f”
of the sound, then the

towards a stationary listener. If “v” is the velocity
apparent frequency of the sound heard by the observer would be:
A) VII(v + u) C) vfl(v - u)
B) (v + umv)f /D) (v-ul)f
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' i ordance with Doppler’s effect if
62 In a Radar system designed in acc ifan
: approachingy the Radar, then the wavelength of the reflecteq Wave rrpola”‘i;.
: _ oy
airplane would be: o ,
A) Either smaller or larger than the transmitting wave \
B) Larger than the transmitting. wave
C) Same as that of the transmitting wave
D) Smaller than the transmitting wave

Q.63 When resistances are connected in series, the equivalent resistance jg qual,
A) Product of the reciprocals of the individual resistances fo, |
* B) Sum of the reciprocals of the individual resistances
C) Product of the individual resistances
D) Sum of the individual resistances

}
Q.64 If a radio and a bulb each of resistance 3Q are connected in series to , 12\1%*
battery, the potential difference across each will be: !
A) 3V C) 9V
B) 6V D) 12V
Q.65

Four wires of equal length and of resistanc

e 10 W each are connected in the%
form of a square. The equivalent resistance b |

i etween two opposite corners of
square is
_ o pd
1062 1042
e
. / """""
A)10W C)40Q
B)20 O D) 5/20
Q.66 Path difference for constructive interference is written as
nl
(A) 2 (B) nA
A
(2n+1)= (2“'*1)&
(C) 2 (D) 22

Q.67 Which of the following can be used in visualizing detaileg internal humar
structures: !

A) Magnetic resonance imaging (MRI) C) CT scanning
B) Magnetic resonance tomography (MRT) D) All of the above

Q.68 MRI is preferred over coniputed tomography (CT) because: |
- A) It involves no any ionizing radiations |

B) Differentiate between soft and hard tissues and is more beneficial for brain and
heart scanning as compared to CT scanning
C) Both of the above
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Q.69

Q.70

Q.71

Q.72

Q.73

Q.74

Q.75

Q.76

Q.77

Q.78

- D) Nuclear magnetic resonance imaging (NMR)

)

within the elastic limit, the ratio b

) L etween : .
roduced tensile strain is called: fhe applied tensile stress to the
A) Elasticity modulus C) Young'’
B) Bulk modulus ) 9's modulus

D) Shear modulys

The ratio of shear stress and shear strain is called
A) Young's modulus C) Bulk modulus
B) Shear modulus D) Compressive modulus

A NOR gate is ON only when:

A) Both inputs 0 C) Either inputs 0

B) Both inputs 1 D) All of above
Which one of Fhe following is not a logic operation:
A) AND opergtlon C) Division

. B) OR operation D) NOT operation
X rays can cause ionization in:
A) Conductors C) Solid insulators
B) Semi-conductors D) Gases

X rays are diffracted by:

A) Diffraction grating C) Glass grating
B) Crystal lattice D) None of Above

An electron from K shell is knocked out and an other electron jumps from a
higher shell to fill it. The energy is released by the second electron in the form
of:

A) Light rays C) Gamma rays

B) X rays D) Beta rays

X - rays break molecular bonds and create highly reactive free radicals which in

turn can disturb molecular structure of proteins especially

A) Bones C) Genetic material

B) Blood Cells D) None of these

The electron structures of atoms are not involved in the emission of:
A) Spectral lines C) Photo electrons

B) Gamma rays D) X rays

Laser is an intense beam of light which is:

A) Mono chromatic C) Coherent

B) Collimated D) All of the above
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Q.79 Laser beam can be used to generate three dimensio ages of Obje,,.

pmceﬂs called:
*\\ Fom ~w~1nm‘
B) Ho!onraphy
Q.80 Alpha radiations are not recommen
A) They are highly ionizing

:\\ !1 Y a'-) ht i LI“] ”UC 3’

th “,F?Df Y :,

(erography

ded for thc treatment of‘ patients beCauS
L,) 3PL' l} L‘H\ ; t” * r’-}'ln . i
D) They are postlively che 'c;ug

"/ m

) {
}

Q00

Q.81 Which of the following radiation are suitable for the treatment of flesh just -

the skin: N ‘
A) Alpha radiations C) Gamma radiations
B) Beta radiations D) X rays
Q.82 In Wilson cloud chamber, the gamma rays leave: | |
A) Thick and continuous tracks C) Dense and continuous tracks
B) Thick and discontinuous tracks D) No definite tracks
Ra™

Q.83 When a radioactive isotope * decays is series by the emission of tiy,
a pamcles and a b-particle the isotope fmally formed is

A) 84 \ N C) <|\

B) » X D) » N |
Q.84 Polymeric solids have as compared with lightest metals

A) High specific gravity C) Low specific gravity

B) Specific gravity equal to lightest metals D) None of these

@ The reciprocal of decay constant of a radioactive element is called its:
A) Half life C) None of the above
B) Mean life D) Two life

Q.86 A naturally occurring disintegration involving the emission of high enerd
electrons is called:
A) Alpha decay C) Gamma decay
/'\ B) Beta decay D) Sigma decay

Q. 87/ Whlch of the following is correct about Kinetic molecular theory of gases:
& / A) Momentum and K.E. after collisions among gas molecules are not conserved
“ B) Momentum is conserved but K.E. is not conserved
C) Both K.E. and momentum are conserved
D) None of the above

Q.88 Pressure of a gas is directly proportional to:
A) Average K.E. of its molecules
B) Average vibrational K.E. of its molecules
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Q.97 If path difference between the interfering waves is n A the

'””g':!.‘ ()'
the screen will be C) Dark ‘t""’n-w
/B\; (éc:-li(;L:"rted D) No fringe '
Q.98 The refractive index of diamond is 2. leetvglogif}’y of light in Biamop,, in
A)1.5%x101 [ ¢, ) C)2»10 ) g
B)6 x 1010 D) 1.5« 10"

Q.99 Two sources of light are said to be coherent if waves Produce
same

. A) Wavelength C) Wavelength
difference

B) Amplitude D) Amplitude and «

by them, hay
t (:!

and constang Phagg
same wuvulengm
Q.100 In compound microscope intermediate image is

A) Real, erect, magnified C) Virtual erect, reduced
B) Real, inverted, magnified D) Virtual, erect, magnified

Q.101 Sound waves do
A) Reflection
B) Polarization

not exhibit the phenomenon of
C) Diffraction
D) Refraction

Q.102 Which type of oscillation give rise to resonance
A) Free C) Damped
B) Forced D) All

Q.103 During an adiabatic co

mpression of 5 mole
The change in the inter

s of a gas, 250 J of work was don
nal energy will be

" A) 50J C)-150 J
B) 250 J D) -2504
Q.104 A carnot engine absorbs heat at 127°C ang rejects heat at 87°C. The efficiency of t
engine is
A) 10% C) 50%
B) 20% D) 30%

= - AW
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v D) AQ=-AU

B) /\l) .

¢ The first 1aw of thermodynamics confirmg

the | .
A) Momentum C) Charg:W of conservation of
B) Man D) None
10% For certain gas Cp/Cv=1.5 for gas

AT pcv=3R C) Cp = 5R
B)Cp = 3R D)Cv=5R
certain substances loose their resistance co -

Q108 G led Mpletely at finite low temperature
A) Dielectric C) Super conductors

B) Perfect conductors D) Semi-conductors

4 19

action is re . A
Q109 A nuclear re presented by the eq: ?+ fg@__>{;+ X What is particle

X? _
A) An X-particle C) A b -particle
B) A neutron D) A proton
Q.110 A capacitor is a perfect insulator for
“A)AC C) Both
B)D.C D) None of these

Q.111 Four resistances 2W, 4W, 6W, 8W are connected in series having current 10A. find
potential differences

A) 600V C) 200V
B) 400V D) 220V

Q.112 A truth table is shown below

Which of the following gate has this truth table

A) XOR C) AND
- B) NOR D) OR
Q113 A b-particle is emitted by a radioactive nucleus at the time of conversion of
A) A neutron into proton C) A proton into neutron
A neutron into energy D) A positron into energy
Q114 Hardness

. or softness of X-rays is determined by
A) Filament current

Hardness of target
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: olidge tube .
8} lﬁ%‘}';ﬁrt?:lsgirfigrfe%ge bgtween cathode and anti cathode

Q.115 The greatest stress that a material can endure with oyt losin
L

i i and strain is called
propp;ort;qgahty between stress 3 Fracirs stress
A) Plasticity

C) Proportional limit D) Brittle stress

Stralqh[

Q.116 Low level radiation effects are

\ : C) Also in white cells

A) Loss ot ek 5) Al of thess
Q.117 ,, Th™ is a source of o

A) o-particle C) vy radiation

B) B-particle D) All
Q.118 Which controls the brightness of graph in CRO

A) Deflecting plates C) Cathode

B) Grid D) Anode

Q.119 X - rays are

A) Electromagnetic radiation of high frequency

B) B) Electromagnetic radiation of low frequency
) Beam of elecirons
D) Beam +ve ions

Penetrate through longer distances in substances are called

) C) Continuous x — rg S
B) Hard x - rays D) None of these g

1 removed and an electron from L shell jumps to
occupy the hole in the K shell, it emits g hot
A) b Er - photon of energy

C)hc=E -
B) hfiw = Ex ~ E, )he = E| - Ex

Q.122 In beta decay
A) The parent or daughter nuclei haye 5
B) The daughter nucleys has oroton locs imber of o

> ONe proton legg than parent nucleus
C) The daughter nucleus hag One proton more t[?lan nucleus

D) The daughter nucleus has ong neutron more than the parent nucleus

Q.123 The K-series characteristic X-rays Photons have ener iven by the formula i
B) Ev — Ex g

D) All of these
Q.124 Which of the following is emitted

oactivt
substance With the same energy from a radi

A) a - partied Cyy

B) £ — partied )Y = rays

Q.125 G.M counter is not suitable
A) Small dead time

for fast Counting because of its
Small Pulse time
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g) L.ond dead time D) Long pulse time
126 qcers are widely used in

Q. wicine .y
A) Me C) Ide aults |
B) Mm;“l;“r:(cl;rm'll adjustment of D; All g}lgrwlggefdu"a n meials

ase 0 al ¢ nt of micro inal i .

0127 I/'\])(';l | é‘;‘f’Pe final image is formed at

B) Near point D) Infinity
g The ragﬁoactive elements polonium and radium were di

Q.12 A) Curies C) Chadwick e discovered by the
B) Rutherford D) Enrico Fermi

Q.129 The continuous X-ray spectrum is due to an effect known as:

" A) Continuous radiation C) Decreasing radiation

B) Braking radiation D) Stopping radiation

Q.130 The wavelength of gamma rays is of the order of
A) 102m C) 10""?mm
B) 10»1/0m D) 10-12pm

Q.131 Compton effect is associated with
A) Ultraviolet C) a-rays
B) X-rays D) All of these

.133 The velocity of a particle is given in terms of time ‘t’ by the equation v=at. The

dimensions of a are
AL C) LT

B)LT? D)L

Q.134 A uniform rod of weight 2 N is pivoted at 70 cm mark. When the rod is horizontal, what
is the resultant torque about the pivot?

E 100 ¢m %
(. -

A

pivot

}: 70 cm———:l ﬁa

5N

A) zero C)1.1Nm

B)1.9Nm D)1.5N m
Q'13$ Torqueis ________ of moment arm and force

A) Scalar product C) Product

B) Vector product D) None of these

th a terminal velocity V. Another

Q136 A steel ball of mass m falls in a viscous liquid Wi : :
liquid with a terminal velocity

steel ball of mass 64m will fall through the same
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{eam Any»YmT C) 8\/

LAV D) 16V
B) 4V . ‘ .
d radius T is released In a viscous medium of negiy
Q137 A bl o T ?r\‘/elocity is proportional to Qi

density. Its termina

C) —
._[.-_- m
A \f;

D) [—
B) = :
T

d flows steadily through a cylindrical pipe Which "

: ible flui A
Q.138 An incompressl d radius R at point B further along the flow direct

radius 2R at point A an

' o, |
the velocity at Ais V, then that at B is

Ay Y C) 2V
y
*B)V D) 4V
Q.139 A physical system under going forced vibrations is known as
A) harmonic oscillator B) free oscillator
C) forced harmonic oscillator D) driven harmonic oscillator.

Q.140 If the phase difference between two interfering beams is p. The path difference s
A) /2 C) 30/2
B) A D) 2\

Q141 In the load-extension graph for a wire, the elastic limit lies between the points

TA

Incense in R
lencth : Q
Load —» »
(@)RandP
(c) P and R Eg; 8 Z;‘;’;
Q.142 The thyroid uptake scans are obtai
odi tained usin
A) iodine-125 g _
B) iodine-131 g; tszcéifill:\rﬁtlztzm-gg

Q.143 A particle of mass 0.5 kg executeg
seconds, its amplitude is
A) 10 cm

SHM. Its energy is 0.04 J if its time period is P

C)30cm
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s

m
p) 20 € D) 40 ¢m

th of a second’s pend
4 The lend Pendulum on the gy
o)

1 iy '
Q A) /36m C)6m IS dtout
B) ]/()IH D) 36m
145 The radioactive isotopes carbon-14 functions as
A y-source C) b-source
. B) a-source D) neutron source

the point i '
146N SHM, at the point of maximum potential energy, the ratio of viw is
A) Xo C) 2o
B) 0 D) x,v2

(4

Q147 What force is required to stretch a steel wire, 1cm? in cross section, to inc
its length by percent. Given young’s modulus for steel =2 x 10" Nlrn’z s

A) 2 x 10°N C)2 x 10N

B)2x105N D)2 x 105N
Q.148 Longitudinal strain can be produced in:

A) Glass C) Water

B) Honey D) Hydrogen gas

erature the rms speed of molecules of an ideal gas is c. If the
is changed so that its pressure is halved while
the new rms speed of molecules is

Q.14§ At a certain temp
certain temperature of gas
keeping its volume constant,

A)N2C C) 242C
| = 3 —
B)TZ—C | D)\/;C

me ‘V' of an ideal gas is
C) Directly proport
(R) D) Inversely proporti

Q.150 Product of pressure ‘P’ and volu
A) A constant
B) Equal to universal gas constant

ional io temperature ol
onal to temperature T

or Oxygen gas cp-Cv=Dh, Cp and Cv being

Q.151 For hydrogen gas Cp - Cv =42 and f .
molar specific heats. The relation between a and b is
A)a=16b C)a=4b

'B)16a=b D)a=b
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t agets ARYWTR

a0 cal of heat 3\1 500 k and rejects 150 ¢g) of he
Q0 ¢2 sink. The temperature of the sink s My, .
C) 250K

N\ D) 125 K

at Fahrenheit scale iIs

- ] \r

Q 153 The steam point of the wate C) 212

A) 32 D) 313 15
F QW ime base generator is :
- The rtout % m of S\\Eep or tin .
Q 15‘ ST Ve \\3\ef0 C\ S:‘Uare \-"a\‘e f
2 SR WIS i
e s g D) Saw tooth wave |
2 Cosme wave !

Q.155

————

\o—

! ’ L~ 3

——— p— L
=L

- o——

in the above diagram, if A= 1,B=0, X=?
A)x=0 C)x
Byx=1 D) x

A
B

Q.158 A wire of resistance R is stretched till its length in increased to n times its orig-
al length. Whatis its resistance now?

)N C) an {
Einf-1R D)E:
n-

WO D) Four

Q.153 Ahchargedhparticle iS present in electric field E experiences a force 9 X 10°N
when another particle with doubled char di sition the forc¢
exerted by field onitis 9Sciis placed at sEmepo
AN G o 10120
X i B)4.5 x 102N
C) 18 x 10“N D) 27x102N

Q.160 The diagram shows a write, carrying a current |. placed between Poles of ?
magnet P
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Leam Anywhere A,,yn,,,,,»- . 4
N S
A

———

. girection does the force on wire act9

C) Tow
i W ynwards ards the N p |
po D) To Ole of the
g; UpWardS ) Towards the g Poke of rnaggzmigtmEt
is moving along the axis of 3 Solenoig
jectron ct statem carrying a ¢
0161 fﬂ'.gwing s a corre ent about the electromagnetuc fl:,r::é“é“tlhlch of the
f o ? ) . c Ing On
fron the
ew‘? g forc€ acts rad!callly nwards C) The force acts In the direcy
A)The force acts radically outwards D) No force acts 'rection of motjgy
B)

: 1] difference applied to an X — e
otential diffe ray tube js j
0162 The ‘:nitted radiation fereased. As a regyyy i
' ¢ tensity increases

' C) Intensity ¢

The in _ \ensity decrease

g)) inimum wavelength increases D) Minimum wavelength decreases
avelength | of the K line of characteristic x - _

0163 Troem\;vc number Z approximately as 14y Spectra varies with
a
A 7 C)lI  1/22
B) ) of \/—Z— D) A o l/\/i

Q164X - rays which can penetrate through longer distances in substances are calleq
A) Soft x-rays C) Hard x —rays
B) Continous X — rays D) None of the above

0.165 X-rays cannot produce

A) Compton effect B) photoelectrons
C) electron-positron pair D) all of these X-rays cannot produce

Q166 Which of the following is not the characteristic of LASER radiation
A) High intensity C) Incohernece
B) uni-directional D) Monochromatic

Q167 CAT Scanning is used to detect the image of

A) Soft tissues C) Boxes
B) Hard tissues D) Both “B” and “C”
Q.15
8C"'“Pllte-rizeol tomography can detect the density difference of about
A0 C) 1%
H02y D) 2%
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l";v-l Arvwte "."‘n’i.i 'S
: of atomic mass u
18 Hiie e"e:gy..zquwalem C) 931 MeV
A)1.6x10

B 6 ”2 y “ l l)) - :‘4‘1 l.o!-;“",
7 v an pass ough 20 cm thicknesg
) | fth fO"OWing the one Wthh Cc < thr g Of

li.‘!_ll l\
C)y—Tays

A) g"ays D) Ultra — violet rays
B) B - rays
dioactive nucleus X undergoes a series of decays accordmg. to the Sch‘-’mg
Q.171 A radioa X, —25 X, —— X, if the mass number and atomic Numbe, of y
X——X,—/>X, Ty T . . are
are 180 and 72 respectively, the COF"*‘-"-SDO"("'lg numbers far X are
A) 176, 69 G 75

Q.172 The percentage of the original quantity of a radioactive material Jef after fiy,
half lives is approximately
A) 1% C) 3%
B) 2% D) 5%

Q.173 Curie is 3 unit of

A) Energy of gamma rays C) Half life
B) Intensity of gamma rays D) Radio activity

Q.174 The accelerating voltage across the Coolidge tube js from

A) 25 to 100 volt C) 25 to 100 million volt

B) 25 to 100 kilo voIt D) 25 to 100 Giga volt
Q.175 As the Mass number A varies which o
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